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����� 2 

 

���	� 

 
2.1  �
��
������
��� (Radioactivity) "#$%��&�
��
���
��� (Radioactive) 
 ���� �.
. 2439  ������ ����� ���������� ������������� ��
!  ��"������#� �$����%�&��'
�����()*)+�,��-�+%��+( �&��'#� ������-������ !����.��%�+���!������()����� ����$���
/��������������"�����$���*)+�����(0 �1� ��1 ��/��2�34�5�.%�+�6�7�$���$8 ���1�*��#!�9�+�
+6���(�9���3� ��-����-)�:)2�;'$�����<�%���()��+)2����=%�34�5��;�1��.6��!� �/��;$�;�'=�
�������<���>5#� ��()/?@��%� A-�$�������!�#� ���������!6�����+%�������A�����1�+6�����+���@ ��1 �7�
��-#����34�5� #2��;$34�5����+��"�!�)2� ��-�%����/�+�����%�����������%�+���!�/�����1���@���
=����������(��>/�����1� ;���A����@�7�%��� �����5 �6�� ��-���� �6�� 7)$�$����%���*����+� 
���)�+� ��-#����+� ��!����.�=%���!�7)$ ����<���>5#� &��'�=%���!�7)$����+%���%���1 �����+��%� 
�������B�����!� (radioactivity) 9? ���()A��������� +�����B�+���(�����+!/��7�*9*#�#� 7�%
�!.�+� ��-���+�&��'#� !����.�=%���!�7)$�%� &��'����������!� (radioactive) )����@�!�'�7)$�%� 
����������!� ;��+.?� ����<���>5#� &��'!����.�=%���!�7)$����+%���%���1 �� !%��&��'����������!� 
;��+.?� &��'#� ��!����(������=%���!�7)$��� �������%������%����!�#� ��*)+������������"����-
��()������!����95 ���!�)����%����"����!�#� .6���%�+�����A���(�����+!/��&��' ��1 ��(�����+!/��
&��'��@��+6%��!B��-7�%�!.�+� !B��-7�%�!.�+���()A��!%����-���B�+��/���(�����+!7�%�;��- 
!� ;��+�����%� ���(�����+!��-���)$�+*�����9? �����-A'��� ��-�(�����9? ���"�����#��
733O� !�)!%��/��A2����*������%�A2�����(�����7�%�;��-!�A�#2��;$&��'��@�7�%�!.�+� 
&��' ��@�A?���%�+���!��������1 ������������;$�!.�+� �%���7)$������(!6A�5 #����%� ���!�#� �=%
�������/������!��+���/��&��' ;�1�7�*9*#����!���@���-���)$�+ 
 �
���"(#)� (Alpha) ��"��(�����+!/��&��'P����+������ 4 ;�%�+ ��-A'733O���� 2 ;�%�+ ��
����������)����@���1 ������!��+����;$���!����3���()/?@� !����@��$�A-������)�� 4 ;�%�+     
��-��-A'733O��)�� 2 ;�%�+)��!����  

       X
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2
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���!����3���@A-.6���@�7�$)$�+�=%���-)�:;�1����+���%=(�;�����@����/��������#%���@� 
 

 



 

 

 

   

 
  12 

����� 2 

 

���	� 

 
2.1  �
��
������
��� (Radioactivity) "#$%��&�
��
���
��� (Radioactive) 
 ���� �.
. 2439  ������ ����� ���������� ������������� ��
!  ��"������#� �$����%�&��'
�����()*)+�,��-�+%��+( �&��'#� ������-������ !����.��%�+���!������()����� ����$���
/��������������"�����$���*)+�����(0 �1� ��1 ��/��2�34�5�.%�+�6�7�$���$8 ���1�*��#!�9�+�
+6���(�9���3� ��-����-)�:)2�;'$�����<�%���()��+)2����=%�34�5��;�1��.6��!� �/��;$�;�'=�
�������<���>5#� ��()/?@��%� A-�$�������!�#� ���������!6�����+%�������A�����1�+6�����+���@ ��1 �7�
��-#����34�5� #2��;$34�5����+��"�!�)2� ��-�%����/�+�����%�����������%�+���!�/�����1���@���
=����������(��>/�����1� ;���A����@�7�%��� �����5 �6�� ��-���� �6�� 7)$�$����%���*����+� 
���)�+� ��-#����+� ��!����.�=%���!�7)$ ����<���>5#� &��'�=%���!�7)$����+%���%���1 �����+��%� 
�������B�����!� (radioactivity) 9? ���()A��������� +�����B�+���(�����+!/��7�*9*#�#� 7�%
�!.�+� ��-���+�&��'#� !����.�=%���!�7)$�%� &��'����������!� (radioactive) )����@�!�'�7)$�%� 
����������!� ;��+.?� ����<���>5#� &��'!����.�=%���!�7)$����+%���%���1 �� !%��&��'����������!� 
;��+.?� &��'#� ��!����(������=%���!�7)$��� �������%������%����!�#� ��*)+������������"����-
��()������!����95 ���!�)����%����"����!�#� .6���%�+�����A���(�����+!/��&��' ��1 ��(�����+!/��
&��'��@��+6%��!B��-7�%�!.�+� !B��-7�%�!.�+���()A��!%����-���B�+��/���(�����+!7�%�;��- 
!� ;��+�����%� ���(�����+!��-���)$�+*�����9? �����-A'��� ��-�(�����9? ���"�����#��
733O� !�)!%��/��A2����*������%�A2�����(�����7�%�;��-!�A�#2��;$&��'��@�7�%�!.�+� 
&��' ��@�A?���%�+���!��������1 ������������;$�!.�+� �%���7)$������(!6A�5 #����%� ���!�#� �=%
�������/������!��+���/��&��' ;�1�7�*9*#����!���@���-���)$�+ 
 �
���"(#)� (Alpha) ��"��(�����+!/��&��'P����+������ 4 ;�%�+ ��-A'733O���� 2 ;�%�+ ��
����������)����@���1 ������!��+����;$���!����3���()/?@� !����@��$�A-������)�� 4 ;�%�+     
��-��-A'733O��)�� 2 ;�%�+)��!����  
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A
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���!����3���@A-.6���@�7�$)$�+�=%���-)�:;�1����+���%=(�;�����@����/��������#%���@� 
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 �
�������  (Beta)  ��"����!�#� ��-���)$�+��'B���(��������  ( e
0

1− )  ;�1�*�9(����  ( e
0

1+ )  )�� 
!���� 

      
X

A

Z

                          eY
A

Z

0

11 −+ +      
     

X
A

Z
                         eY

A

Z

0

11 +− +  

 
��%�                  Au

198

79
                    eHg

0

1

198

80 −+   
      N

13

7

  
                           eC

0

1

13

6 ++  
���!���@���'>!����(#-�'#-����������7)$)���%����!� ���3� !����.#-�'=%���@2�#� �?���-��> 1 �(@�
;�1���-��>����;��/��=(���1@�#� �Q��1�7)$ ���!�����A-.6���@�7)$*)+��$�=%��-�6�(���+� ��()��� 
 �
���"���� (Gamma) ��"���1 ���%�;���733O�#� �����A���(�����+! ��()A���(�7��)5!��+���
�;$���!����3�;�1����� ��$��(�7��)5#� ��()/?@���������������(�7� #2��;$�+6%��!B��-��-�'$� 
(excited state) A?��������*)+����;$���!����������� )��!���� 
                    Co

60

27

           Nie
60

28

0

1
+−                         γ+Ni

60

28
 

���!��������@ !����.#-�'=%���%����+7)$ ����2�������!�������$����$��!)'#� ������;����%�!6� 
��%� �-�� �;�1�+6�����+� ��"��$� 
 
2.2 (�&����
��
���
���1�%���2��3 (The natural radioactive series)  
       A�����
?�:�!������������!���&������(*)+��$�����6$#��34!(�!5��-���� ���%���1 �
�(�����+!����������!�#� ��"��$��2���()���!������!��+��� �+%���%���1 ��A�7)$�(�����+!�!.�+� ���
!��+�����"��2�)����@���+��%� T��'�������������!�U *)+��'�������������!���&������(��#�@�;�) 4 
��'��� ��%�-��'���A-�����!��+���������:>-/�����!��+���A��!���$��2���())����@ �1�  
 2.2.1  (�&����(9��:� (The thorium series, 4n-series) 
      &��'����������!�����'����')��@A-���%� ��/���;��)$�+ 4 ����� A?�������+�!�@�8 �%�

��'��� 4n ��( ��$�A�� ( Th
232

90
) 9? ����%���? ����(� 1.39×1010 �� ��$�!��+���7�A���"�&��'#� �!.�+� 

(stable ) ( Pb
208

82
) )��B����-��� 2.1  ���=�B����"��1 ��)(� 9? ��/�+��1 ���@���%��( ��$������A-

��"��1 �#� �!)�����!�����&5���&��'�2���() !%���1 �&��'���ZAA'���!����.A-)67)$A��������9? �
��"����/����/�-��� 
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B����-��� 2.1  ��'���#����+� 
 

2.2.2 (�&���9�>�?9��:� (The Neptunium series or 4n+1 series)  
  �%���/���/��&��'����'����')��@;��)$�+ 4 �;�1��
: 1 #'�&��' ��( ��$�A��&��' 
( Pb

241

94
) 9? �����? ����(� 13 �� !��+���A����+��"�&��'�!.�+�#�  ( Bi

209

83
) &��'#� ����? ����(�+��#� !')��

��'����')��@ �1� ( Np
237

93
) �1� 2.2×106 �� )��B����-��� 2.2 

 
 
 
 
 
 
 
 
 
 
 
 
 
 B����-��� 2.2 ��'������#6���+� 
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2.2.3 (�&���:?9�9��:� (The Uranium series , 4n+2 series)  
           �%���/���/��&��'����'����')��@ ;��)$�+ 4 �;�1��
: 2 #'�&��' A?����+�!�@�8 �%� 

��'���  4n +2  ��( ��$�A��  ( U
238

92  )   9? �����? ����(� 4.5×10
9 ��    ��$�!��+���7���1 �+8 A��!.�+�#�  

 ( Pb
206

82
) )��B����-��� 2.3 

 
B����-��� 2.3  ��'���+6�����+� 
 

2.2.4 (�&���"(��39��:� (The Actinium series or 4n+3 series)  
           &��'�%��8 ����'����')��@ .$�;���%���/���)$�+ 4 A-�;�1��
: 3 �!�� A?����+�!�@�8 �%� 

4n+3 ��( ��$�A��  ( U
235

82
) 9? �����? ����(� 7.1×108 �� ��$�!��+���7���1 �+8 A���"�&��'#� �!.�+�#�  

( Pb
207

82
) )��B����-��� 2.4 
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 B����-��� 2.4  ��'������#(���+� 
 
2.3  �	����#�:�
DE(��3DFG#HI  (Law of Radioactive Decay) 
       ���#� �(�����+!/���(�7��)5����������!����� +�!B����"��(�����+!/��&��'�;�%      ��-����� 
��%�+����������6�/������������!���()�%��8 ��@����+��%� T���!��+U (decay) �(�����+!
����������!���( ��$����+��%� T�(�����+!��%U (parent) ��-�(�����+!�;�%#� ��()/?@����+��%� T�(�����+!
�6�U (daughter) �(�����+!�6�#� 7)$A�����!��+��AA-�!.�+�;�1�7�%��7)$ .$�7�%�!.�+���A-�����
!��+����%�7����A���%�A-�!.�+� ���!��+���/���(�7��)5����������!���@� ��������!��+���/��
�(�7��)5����������!�A-���=��������A2�����(�����+!�-���#� ���+6%�)(���/>-��@� 
   .$��;$  N ��"�A2�����-���#� ���+6% > />-�)/>-;�? � 
��������!��+����1� 

                                                  Ν
−

α
dt

dN    

                                                                  
dt

dN     =      - Νλ                                                      (2-1) 

 ��1 � λ �1��%������/�����!��+��� (decay constant) ;�%�+ �(��#�-1 �;$ N0 ��"�A2�����-���
#� ���+6%�)(���1 ���( ��$�  t = 0 !���� (2-1) A-7)$ 

        ∫ ∫−=
N

N

t

dt
N

dN

0 0

λ  

                                                              t
N

N
λ−=

0

ln  

                                                        t
eNN

λ−=
0

                                                (2-2)                                                              
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!���� (2-2) ���+��%�  T�g/�����!��+���/���(�7��)5����������!�U     (law of radioactive decay)  
 
2.4  GD��"��E(�����
��
���
��� (Activity, A)  
       �;$ A ��"���������!��+/���(�7��)5����������!�;�1�  T�������B��U  ;�1�   T����������!�U  
(activity) ,-��@�A-7)$ 

        
dt

dN
A −=  

                                                                NA λ=                                                    (2-3) 
�������B��;�1�����������!�;�%�+��"� T���@��%��(��#�U (disintergration per second,dps) ;�1� 

�6�� (Curie, Ci)���ZAA'�����$;�%�+ SI �1� T����������U (Becquerel, Bq)  

 A��!���� (2-2) �6>)$�+ λ A-7)$ 
                   t

eNN
λλλ −=

0
 

                                                                        t
eAA

λ−=
0

                                             (2-4)     
   ��1 � A ��"��������B��#� �����) 8  
  A0 ��"��������B��#� ���� t  =  0 
 
2.5 G�O��2�D3� (Half Q life) "#$GR�2�D3�9S#��: (Mean life) 

     ��? ����(� (Half r life)  �1�����#� �������B�����!���$�����!��+����;�1���? �;�? �/��#� ���+6%
�)(� �%�����������!�A-�)���;�1���? �;�? ��������#%�8 ���A?���@��%������/������#� �������B��
;�1�!������������!��)���;�1���? �;�? ��%�  �%���? ����(� �;$�%���? ����(� (half life) , 

2
1

T  = 

�-+-����#� !������������!��)���;�1���? �;�? � 

  )����@�#�  t = 
2

1
T  ; 2/

0
NN =  ; =  

2

1

0

=
N

N  

 
  A��!���� (2-2) A-7)$�%�                      t

eNN
λ−=

0
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λ

λ

λ

λ

λ

2ln

2ln

2

1
ln

2

1

2

2
1

2
1

2
1

0

0

2
1

2
1

=

=

−=

=

=

−

−

T

T

T

e

eN
N

T

T

 

                                                       
λ
693.0

2
1

=T                                                    (2-5)                                    

  !���� (2-5) ��"�!����#� �!)�����!�����&5�-;�%���%���? ����(� (T1/2) ��-�%���#� /�����

!��+��� (λ) ��%��1 ��A���-������(�7��)5����������!����%�����(�7�%�#%���� �%��,�� +/���%�����(�
��@���+��%� T���(��,�� +U (Mean life) τ �;$��"������!%��/������#� #'��-������+6%�%�A2�����-���#� 
��( ��$� 

A��              t
eNN

λ−=
0

 
           dteNdNdiff

tλλ −−=
0

;  
A���2�A2���)����A-7)$ 

                 






−−=

−
=

−
=

=

∫

∫

∫

∞
−

∞
−

∞

2

00

0

0

0

0

0

0

1

1

λ
λτ

λ
τ

λτ

τ

λ

λ

dtte
N

N

dteNt
N

N

tdN

t

t

 

                                                             
λ

τ
1

=                                                              (2-6) 

 
2.6 ����#�:�
D"���R(9�V�(� (Chain disintegration) 

     ���!��+�%���1 �� (chain disintegration) ��"����!��+�%�8 ��� �(�����+! A !��+��"�
�(�����+! B ;���A����@� �(�����+! B !��+��"��(�����+! C ��-�(�����+! C !��+�%�7���"���%���@
��1 �+7� A���%�7)$�(�����+!�!.�+� ��/�@��$���@A-�(A��>����!��+/���(�����+! A ��"��(�����+! 
B ��-�(�����+! B !��+�;$�(�����+! C ��"��(�����+!#� �!.�+� �/�+���"�!����7)$)����@ 
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A                               B                           C  (�!.�+�) 

#� ������( ��$� t = 0   A ��A2�����-����#%���� 0

A
N  

��1 �����=%��7� t    A ��A2�����-����#%����
A

N  

       B ��A2�����-����#%���� 
B

N  

       C ��A2�����-����#%���� 
C

N  

  A2�����-��� A #� ���� t A-7)$ 
    

A
N  =  t

A
eN

λ−0                                                      (2-7) 
A2�����-���/�� B #� ���+6%�%��(��#��#%��������������() B ��)$�+��������!��+/�� B ��%�����
�����()/�� B �#%������������!��+/�� A A-7)$ 

    
dt

dN
B        =       

BBAA
NN λλ −                                          (2-8) 

  �#� 
A

N ��!���� (2-8) A-7)$ 

    
BB

t

AA

B
NeN

dt

dN
A λλ λ −= −0  

 

     t

AA

B

BB

AeN
dt

dN
N

λλλ −=+ 0                                                       (2-9) 

  t
Be
λ  �6>!���� (2-9) A-7)$ 

                  tt

AA

t

BB

tB BABB eeNeNe
dt

dN λλλλ λλ −=+ 0  

 

                        dteNdteNdNe
t

AA

t

BBB

t ABBB
)(0 λλλλ λλ −=+  

 

                                              dteNeNd
t

AA

t

B

ABB )(0
)(

λλλ λ −=  
 
                                            dteNeNd

t

AA

t

B

ABB )(0
)(

λλλ λ −∫∫ =  

 

                                                    Ce
N

eN
t

AB

AAt

B

ABB +
−

= − )(

0

λλλ

λλ
λ                                   (2-10) 

  ��1 � t = 0 ; 0

BB
NN =  �#���!���� (2-10) 

 

A
λ  

B
λ  
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                                                           C
N

N

AB

AA

B
+

−
=

λλ
λ 0

0   

  

                                                              
AB

AA

B

N
NC

λλ
λ
−

−=
0
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  .$�#� ���� t = 0 �1��%��#�  A A-!��+ A2�����(�����+!/�� B �#%����
6�+5 �1� 0

B
N =  0  

  !���� (2-12) A-��"� 
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  !%��A2�����-���/�� C #� �����)8 ;�7)$A��!���� (2-14) 
                                                             

BAAC
NNNN −−= 0                                           (2-14) 

  .$�#� ���� t = 0 , 0

CC
NN =  !���� (2-14) A-��"� 
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CBAAC
NNNNN +−−=                                 (2-15) 
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����>�#� �(�7��)5����������!������!��+�%���1 ��*)+��=�=�(��(�7��5����������!���@���%!�����/?@�
7�A�  n )������+%����B����-��� 2.6 
 

1
λ  

 1   2   3    w..                   n         (stable) 
  

 

B����-��� 2.6 ���!��+�������%���1 �� 
 
 ���;��������B��/���(�7��)5����������!���%�-���!����.;�7)$A��!����/����#��� 
(Bateman equation) 
  !���(�%����� t = 0 ���,��-�(�����+!��% 0

1
N  !����/����#��� �1� 
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2.7  ��H&#"��Z�D� (Secular equilibrium) 

��"�!�)'�#�����!�#� ����1 ��7/�2�����%� ��? ����(�/���%���%   A-�$�����%������%���? ����(�/���6� 

;��+�#%� ;�1���������%;�? ��1� λ1<<λ2  .$�A-�;$�;����)/�����!�)'��������@��$� ����
����%��/���%���? ����(��-;�%���%���%����6�A-�$���%����� 104 �#%� ;�1������%���@� )����@��%�����
������!�/���%���%A-7�%���� +������#%�7� ��/>-#� �%�����������!�/���6����� +�����7�;��+
�%����? ����(� ����+%����%����!��+���/�� 226Ra  7���"� 222Rn 

 226Ra                            222Rn                             218Po 
  

2
1

T  =1620y  
2

1
T  =3.8d 

!2�;���!�)'�#�����!��-;�%�����)�+���-��)�� #2��;$!���� (2-18) ���� +������%�+/?@� ��%���1� 

�1��%� λ1 ��@���)#(@�7)$��+��1 �����+��#�+�����%� λ2 ��-��%��)�+������1 ����� t =%��7����;��+

�%����? ����(�/����)�� =��6>/�� t ��- λ2 A-���%��;�
�� )����@�   t
e 2

λ−   A-���%��/$�!6%
6�+5)����@� 
!���� (2-18) !����.�)�6�7)$��"� 

                                                            t
eNN 10

1

2

1

2

λ

λ
λ −=                                                         (2-19) 

�#��%� 
1

N
  A�� (2-17) ���� (2-19) A-7)$ 

                                                         
2211

NN λλ =                                                            (2-20) 
!���� (2-20) 7)$�!)�����A�(��%�A2�����-���!�����&5/���%���% ��-�6�A-���=�=�����
�%���#� /�����!��+��� ��-����()#� !2���0����+%��;�? ����1���!�)'�/���6�A-���%��#%����/��
�%���%9? ���"���1 ��#� ������!2���0���8 ����>�/��!�)'�#�����!����.�����1 ���()/?@���$�   ���� 
 ����������!�#�@�/���%���% ��-�6�A-�)��)$�+�����#� �#%������-������)��/?@��+6%�����? ����(�
/���%���%)��B����-��� 2.7 
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B����-��� 2.7  �!)�B��!�)'����.��� 
 

2.8  _�RD:D
H�
��
������
��� (Unit of radioactivity) 

2.8.1  _�RD:D
H�
��
������
���  (activity or source strength unit)  
          ��1 ��A�����)�+���"�!������������!�������#� �6$A�� ��-��$���        )����@�A?���$;�%�+/�� 

�������B�����!�)$�+�6��.1���"�;�%�+��( ��$� *)+�2�;�)�+6%���#��/����������!��+��� 9? �
��� +���������� 1 ����/�����)�+� ���#� A-��)�;$7)$��������!��+���#� ��%�����@�+����� )����@�
A?�7)$����+������%����!��+��� 10

107.3 ×  �-����%��(��#��%�����/�����)�+���"��%��������
���!� 1 �6�� ��$�%��������( ����A-��$������)�+��#%���@� ��%�%���7)$�2�7���$���!������������!��1 �8 
)$�+ ��%� /��) 1 �6�� /�� 9���3��5-35 #� �%��;$��()���!��+���  10

107.3 ×  �-����%��(��#� 
 ���ZAA'�����@�����)����������!� 7)$��|������$;�%�+�;�%���-�� SI 7)$��$;�%�+ 
T����������U (Becquerel) ��$!�0���:>5+%��%� TBqU *)+#�  

BqdpsCi
1010

107.3107.31 ×=×=  
 

 2.8.2  >�3��`�
���1�(���a (Exposure Dose, X)  
                 ;��+.?���(��>���!�#� #2��;$��()���������*)+���;�1�*)+�$�� (Ionizing radiation) �=%
��������8 ��� ;�1��������#� ���!�!60�!�+7���1 �=%���/$�7�����1@�!!�� ;�%�+/����(��>���!�
������
 �1� ��(�#5��� (Roentgen)  
   ��(�#5��� (Roentgen, R) ��"�;�%�+��)��(��>���!�������
/�����!�����95 ;�1����!�
�������1 �=%������
 *)+�2�;�)�;$ 
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   1 ��(�#5��� �#%������(��>���!�����95 ;�1����!������#� #2��;$����
 0.001293 ���� #� 
�'>;B6�( ��-����)������~�� ��()����������;$��-A'��� (;�1���) 1 �� ��! +6 ;�1� 1 ��(�#5��� 
�#%������(��>���!�����95;�1������#� #2��;$����
��(���� 1 �6���
�5�9��(���� #� �'>;B6�( ��-

����)������~����������"�7���� 2.06 × 109 7�����6% 
    1 R = 2.58 × 10-4  Coul/kg 
    1 R = 103 mR                                                     (2-21) 
 

2.8.3 (
���>�3��`�
���1�(���a (Exposure Dose Rate,
•

X ) 
          ��"������!%��/�������( � /����(��>���!�������
���%������ t∆  

 
•

X  = X∆ / t∆                                                    (2-22) 
     ��;�%�+��"� R/sec,mR/hr ��"��$� 
 

2.8.4 >�3��`�
������Z?�H?H�#V� (Absorbed Dose, D)  
;��+.?���(��>�������.%�+#�)  (energy imparted)     A�����!�#� #2��;$��()���������#�  

!!��7)$��� (
D

E∆ ) �%�;�? �;�%�+���!�� ( m∆ ) > ��(��>A')#� �(A��>� 
     D = 

D
E∆ / m∆                                                (2.23) 

 
2.8.5 "�H (Rad)  

+%���A��       T Radiation absorbed dose U      ��"�;�%�+��)��(��>���!�#� .6�)6)��1� *)+ 
�2�;�)�%� T���.'�)7)$������!���$����!���@�.%�+�#��������;$��%���.'���%��#%���� 100 ��(�5��%�����/��
���.'�!)��%����.'��@�7)$������!� 1 Rad U 
     1 Rad = 100 erg/g 
  ���-�� SI �ZAA'�����$;�%�+/����(��>���!�#� .6�)6)��1���"����+5 (Gray, Gy) 
     1 Gy = 1 J/kg  =  100 rad 
 

2.8.6 (
���>�3��`�
������Z?�H?H�#V� (Absorbed Dose Rate,
•

D )  
          ��"������!%���-;�%�������( ���(��>���!�#� .6�)6)��1����%������ t∆  

   
•

D  = D / t∆                                                      (2-24) 
  ��;�%�+��"� Rad/sec, Rad/hr 
  ���-�� SI �ZAA'�����$;�%�+ Gray/sec 
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2.8.7 ���ZR�:�(H�#
����923�9�e� (Linear Energy Transfer,LET)  
;��+.?��������#� ���!�!60�!�+�;$���!!���%�;�%�+�-+-#��          ��;�%�+��"�  erg/cm ,  

keV/µm   
 

2.8.8 �
D>�$�(�G&`��� (Quality Factor, Q)  
��1 ��A����1 ��%����+7)$������!��%�����A-��()����=()���(#������(#+��%�����         ICRU 

(International Commission on Radiation Units and Measurement) A?�7)$�2�;�)�%�  Q  /?@�  �%� Q ��@ 
A-�%����.?��'>B��/�����!� 9? ����!���%�-��()A-���%��,��-/�������  )�������   2.1     �!)��%� 
Q A2��������%� LET  
 
����� 2.1  �!)��%� Qality factor A2��������%� LET 
(#� �� : Lamarch, J.R. 1983) 

LET (keV/micron) Q 
3.5 ;�1��$�+��%� 1 

7 2 
23 5 
53 10 

175 ;�1������%� 20 
 

2.8.9 >�3��`�
������?# (Dose Equivalent , H)  
���!���()�%��8     .?���$�%�A-.%�+�#��������;$��%��1@��+1 �/���%����+A2�����#%��������� 

��%=��!�+;�+#������(#+�#� ��()/?@������1@��+1 �7�%�;�1����� )����@����#� A-����+��#�+���(��>���!�
#� ��1@��+1 �7)$��� *)+�()����%=��!�+;�+#������(#+� A�����!���()�%��8 ��$� A-�()�,��-�������#� 
���!�.%�+�#�;$�����1@��+1 ��+%���)�+�7�%7)$ A-�$�������5��-���)$������(#+�!2�;������!���%�-��()
�/$�7���� +�/$��)$�+ ICRU A?�7)$�2�;�)�%���(��>���!�!��6�/?@� 9? ����%��#%����=��6>/����(��>
���!�#� .6�)6)��1���������-����'>B�� )��!���� (2-23) 

     H = D×Q                           (2-25) 
  �%���(��>���!�!��6���@��AA-���+�7)$�%���(��>���!�#�����B�� (Biological dose) ��;�%�+
��"���� (Rem) 
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 2.8.10  9�� (Rem)  
                   ��"�;�%�+/����(��>���!�!��6�+%���A��    T roentgen equivalent man U      )����@� .$�
���!�#� ���%������-����'>B���#%���� 1 ��-�%���(��>���!�#� .6�)6)��1� 1 ��) A-7)$�%���(��>���!�
!��6� 1 ��� ���-�� SI �ZAA'�����$;�%�+��"� 9���(�5� (Sievert , Sv) 
       1 Sv = 100 rem 
 2.8.11  (
���>�3��`�
������?# (Dose Equivalent Rate, H)  
                    ��"������/����(��>���!�!��6��%�;�%�+����        ;�1���"��%�=��6>/���������(��>
���!�#� .6�)6)��1���������-����'>B��)��!���� (2-26) 

     
•

H  =  
•

D × Q                                                     (2-26) 
     ��;�%�+��"� Rem/sec, mRem/hr 
    ���-�� SI �ZAA'�����$;�%�+ Sievert/sec, Sv/s 
                                                 


